Dewatering Parts

Part Number Description List Price
| 300000 | Screw, Cap 1/2-13 x 3.75" Ig SS | $23.00 |
[ 300001 | Screw, Cap 1/2-13 x 5.00" Ig SS | $23.00 |
[ 300002 | Screw, Cap 1/4-20 x 2.00" Ig SS | $6.00 |
[ 300003 | Screw, Cap 1/4-20 x 3.25" Ig SS | $4.00 |
[ 300004 | Screw, Cap 3/8-16 x 1.00" Ig SS | $3.00 |
[ 300005 | Screw, Cap 3/8-16 x 3.25" Ig Zinc | $4.00 |
[ 300006 | Screw, Cap 3/8-16 x 5.00" Ig SS | $11.00 |
[ 300007 | Screw, Cap 3/8-16 x 5.50" Ig SS | $13.00 |
[ 300008 | Screw, Cap 1/4-20 x .875" Ig SS | $2.00 |
[ 300009 | Screw, Cap 5/16-18 x 2.50" Ig SS | $3.00 |
[ 300010 | Screw, Cap 5/16-18 x 6.50" Ig SS | $24.00 |
[ 301000 | Screw, Hex Hd 5/16-18 x 3.50" Ig SS | $5.00 |
[ 301001 | Screw, Hex Hd 1/4-20 x .875" Ig SS | $3.00 |
[ 301002 | Screw, Hex Hd 5/16-18 x .50" Ig SS | $6.00 |
[ 301003 | Screw, Hex Hd 5/16-18 x 2.25" Ig SS | $15.00 |
[ 301004 | Screw, Hex Hd Cap 1/2-13 x 5.50" Iy SS | $23.00 |
[ 301005 | Screw, Hex Hd Cap 10-24 x .625" Ig Zinc | $2.00 |
[ 301006 | Screw, Hex Hd Cap 10-24 x .625" Ig SS | $3.00 |
[ 301007 | Screw, Hex Hd Cap 3/8-16 x 1.125" Iy SS | $3.00 |
[ 301008 | Screw, Hex Hd Cap 5/16-18 x 1.25" Ig SS | $13.00 |
[ 301009 | Screw, Hex Hd Cap 5/16-18 x 1.50" Iy SS | $4.00 |
[ 302000 | Screw, Pan Hd 1/2-20 x .50" Ig SS | $4.00 |
[ 303000 | Screw, Rd Hd 1/4-20 x .375" Ig Bronze | $4.00 |
[ 303001 | Screw, Rd Hd 10-24 x .50" Ig SS | $2.00 |
[ 303002 | Screw, Rd Hd 10-32 x .25" Ig Bronze | $1.00 |
[ 303003 | Screw, Rd Hd 6-31 x .50" Iy SS | $4.00 |
[ 304000 [ Screw, Drive | $1.00 |
[ 310000 | Nut, Hex 1/2-13 SS | $5.00 |
[ 312000 | Plug, Pipe NPT .125 SS | $8.00 |
Page 1 of 12 Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
312001 Plug, Pipe NPT .25 Stainless Steel $10.00
312002 Plug, Pipe NPT 1/2" Stainless Steel $17.00
330001 Washer, Flat .25 Stainless Steel $2.00
330002 Washer, Flat .32 Stainless Steel $6.00
330003 Washer, Flat 1/2" SS $1.00
330004 Washer, Flat 3/8" Stainless Steel $1.00
330005 Washer, Flat 5/16" SS $1.00
330006 Washer, Flat 1/4" Zinc Plated $1.00
331000 Lockwasher #10 Cad PIt $1.00
331001 Lockwasher #10 Cad PIt $1.00
331002 Lockwasher 1/2" Zinc Plated $1.00
331003 Lockwasher 1/4" Cad Plated $3.00
331004 Lockwasher #10 Steel $3.00
331005 Lockwasher, Impeller 3/8" Stainless Steel $2.00
V001900-2 Gland, Cable Aluminum $38.00
V001902 Gasket, Terminal Box $5.00
V075832 Control Box, Raintight 3/4 HP 230 Volt 3 Phase $337.00
V088853 Motor 1HP, 115/230Volt, 1Ph (Rotor & Stator) $653.00
V088853-1SC Motor 1HP, 115/230Volt, 1Ph (Rotor & Stator) for 01311SC self contained $653.00
V088854 Motor 1HP 230/460 Volt 3 Phase (Rotor & Stator) $700.00
V088856 Motor 3/4 & 1HP, 115/230 Volt, 1 Phase (Rotor & Stator) $658.00
V088857 Motor 3/4 & 1HP, 230/460 Volt, 3 Phase (Rotor & Stator) $704.00
V100000-4 Anti sludge strainer 3/4 & 1HP $92.00
V100200-2 Impeller (Black) 3/4HP 3.58" O.D. w/.48" Vane Hight $133.00
V100200-3 Impeller (Black) 1HP 3.58" O.D. w/ .55" Vane Hight $133.00
V100200-4 Impeller (Black) 1HP 3.58" O.D. w/ .78" Vane Hight (01311A & 01311SC) $133.00
V100700-2 Discharge Head 3/4 - 1HP (not for 01311SC) $257.00
V100700-3 Discharge Head 1HP self contained unit (01311SC) $244.00

Page 2 of 12 Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price

[ Vv100723-14 | Assembly, Cable and Gland 3/4-1HP, 115 Volt 25' 14/4 SOW | $204.00
[ v100723-14A | Assy, Cable & Gland 115 Volt with plug for self contained unit (01311SC) | $202.00
| V100723-18 | Assembly, Cable and Gland 3/4-1HP 230/460 Volt 25' 14/4 SOW | $204.00
[ vi00832 | Control Box, Raintight 1HP 230 Volt, 3Phase | $505.00
[ vi00834 | Control Box, Raintight 3/4-1HP, 460 Volt, 3Phase | $505.00
[ v100850-034 | Circuit Breaker, 3/4Hp, 460V, 3ph, 3amp | $101.00
[ v100892-25 [ Cable, 25Ft 3/4-1HP, 230/460 Volt 14/4 SOW | $324.00
[ v100958-5 | cable, 25Ft 3/4-1HP, 115 Volt | $47.00
[ v100958-5A | cable, 25FT 1HP, 115 Volt for self contained unit (01311SC) with plug | $164.00
[ vioisii | Control Box, Raintight 3/4-1HP, 115 Volt, 1Phase | $398.00
[ vioisi2 | Control Box, Raintight 3/4-1HP, 230 Volt, 1Phase | $398.00
[ vi112543 | Bearing 6203-27 | $19.00
[ vi12544 | Bearing 6205-27 | $40.00
[ vi12546 | Bearing, Ball 6305-27 | $32.00
[ vi12560 | Bracket, Cable support, 3/4 & 1HP | $29.00
V12014-1 Connector, 3/4-1HP, 115 Volt, 1Phase, & 230 Volt 3 Phase | $2.00
V12015-2 Locknut, Impeller, Stainless Steel 3/8-24 | $11.00
V12020-2A Grip, Cable 2-5HP | $114.00
V12022-1 Bushing, Neoprene | $5.00
V12022-2 Bushing, Neoprene | $10.00
V12026-1 Connector, 1 phase | $2.00
V12026-2 Connector, 3 Phase | $2.00
V12029 Connector, 230 volt, 1Ph | $3.00
V12029-1 Connector, 230 volt, 3Ph | $2.00
V12029-2 Connector, 460 volt, 3Ph | $2.00
V12061-1 Nut, Cable Grip, Stainless Steel | $41.00
V12062 Nut, Cable Grip, Stainless Steel | $41.00
V20002-38 Locknut, Impeller, Stainless Steel 1/2-20 | $12.00

Page 3 of 12

Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
V20002-43 Locknut, Impeller 25HP 5/8-18, 25HP | $18.00
V200200-6 Impeller, Stainless Steel, 2HP unit 5.315" | $432.00
V200600 Stator, 2HP & 2.75HP 115-230 Volt, 1 Phase | $1,073.00
V200811 Control Box, Raintight 2HP, 115 Volt, 1 Phase | $624.00
V200812 Control Box, Raintight 2HP, 230 Volt, 1 Phase | $627.00
V21002-64 Shim .016" Thick, One Set (Qty.of 3 per set) | $2.00
VV21002-65 Shim .032" Thick, One Set, (Qty.of 3 per set) | $4.00
VV21003-43 Shim 1.00, 50HP, One Set, (Qty.of 4 per set) | $12.00
VV21003-44 Shim 1.00, 50HP, One Set, (Qty.of 4 per set) | $12.00
V21004-4 Washer, Cable Grip Steel | $4.00
V21010-1 Shim .016" Thick, One Set, (Qty.of 4 per set) | $6.00
V21010-2 Shim .032" Thick, One Set, (Qty.of 4 per set) | $4.00
V21016 Lockwasher, Impeller 50HP, 1x 1.937" | $25.00
V2-31003-0025 Gasket, 2 to 5 HP, power cable gland | $6.00
V2427493 Spiral Lubricator 3/4HP to 1HP | $5.00
V2427494 Spiral Lubricator 2HP to 5HP | $5.00
V250100-1 Suction Case 2HP & 2.5HP HH | $462.00
V250200-6 Impeller Stainless Steel 5.31" HH | $481.00
V250400 Rotor 2HP, 115/230 Volt, 1 Phase & 2.5HP 230/460 Volt, 3 Phase | $649.00
V250500 Frame 2HP & 2.5HP | $428.00
V250555 Outer Shell 2HP, 2.5HP & 2.75HP | $205.00
V250600 Stator 2.5HP, 230/460 Volt, 3 Phase | $590.00
V250700 Discharge Head with 3" to 2" adapter, 2HP & 2.5HP, 5HP 2 Stage | $800.00
V250834 Control Box, Raintight 2.5HP, 460 Volt, 3 Phase | $336.00
VV250850-036 Circuit Breaker, 3/4HP, 230/3, 5amp | $101.00
V27002-125 Snap Ring, 25 & 50HP | $10.00
\/27002-50 Snap Ring | $4.00
\/27002-87 Snap Ring | $4.00
\V27004-244 Retaining Ring | $5.00

Page 4 of 12

Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
V27004-59 Snhap Ring | $2.00
\V27004-98 Retaining Ring | $5.00
\VV27006-244 Retaining Ring 5HP 2 Stage | $5.00
V270812 Control Box, Raintight 2.75HP, 230 Volt, 1 Phase | $728.00
V275200-2 Impeller, Stainless Steel, 4.217", 2.5HP HV & 2.75HP | $514.00
V28003-2 Bushing, Strain Relief, Nylon | $3.00
V30001 Spring, Bearing, Load | $3.00
V30002-3 Spring, Bearing, Load | $6.00
V30002-5 Spring, Bearing, Load | $6.00
V30002-6 Spring, Bearing, Load | $6.00
V30009-4 Ring, Nilos Bearing | $13.00
V31001 Seal, Inboard Shaft, Carbon-Ceramic-Buna-N | $89.00
V31003-015 O-ring | $1.00
V31003-025 O-ring | $4.00
V31003-026 O-ring | $2.00
V31003-035 O-ring | $2.00
V31003-038 O-ring | $6.00
V31003-117 O-ring | $2.00
V31003-122 O-ring | $2.00
V31003-138 O-ring | $3.00
V31003-158 O-ring | $4.00
V31003-166 O-ring | $12.00
V31003-239 O-ring | $3.00
V31003-244 O-ring | $3.00
V31003-246 O-ring | $4.00
V31003-260 O-ring | $4.00
V31003-273 O-ring | $12.00
V31003-277 O-ring | $12.00

Page 5 of 12

Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
| Vv31003-366 | O-ring | $10.00
[ Vv31003-446 | O-ring | $12.00
[ Vv31003-448 | O-ring | $12.00
[ v31006 | Seal, Inboard, Shaft, Carbon-Ceramic-Buna-N | $72.00
[ v31009-011 | Ring, Quad | $3.00
[ v31020 | Seal, Inboard, Shaft, Carbon-Ceramic-Buna-N | $142.00
[ V31036 | Seal, Inboard, Shaft, C/C/B, (was V31036A) | $66.00
[ v31036C | Seal, Shaft, outboard, S/S/B, (was V31036B) | $96.00
[ v32004-20 [ Plug, oil ---- (USE 312002) | $0.00
[ v33012 | Tag, Ground Lead | $2.00
[ v33013 [ Nameplate | $15.00
[ v33024-2 | Decal, Rotation, 3 Phase Only | $3.00
[ v331005 | Lockwasher, Impeller | $4.00
[ v33241 [ Nameplate | $24.00
[ v34004 | Bearing, Angular 6304-27 | $119.00
[ v34007 | Bearing 7307 | $25.00
[ v34013 | Bearing 6306-27 | $76.00
[ v34016 | Bearing, Angular 5310A-27 | $298.00
[ v350100-1 | casing, Suction, 3.5HP | $486.00
[ v350200-7 | Impeller, 5.22" Diameter, 3.5HP | $503.00
[ v350612 | Stator 3.5HP, 230 Volt | $966.00
[ v350812 | Control Box, Raintight 3.5HP, 230 Volt, 1 Phase | $659.00
[ v350887-50 | cable, 50Ft, 12/4 SOW | $424.00
| v353308-2 | Key, Steel .093 x .50 | $12.00
[ v4025000MTR [ Motor 2.5HP, 230/460 Volt, 3 Phase (Rotor & Stator) [ $1,155.00
[ v4050000MTR | Motor 5HP, 230/460 Volt, 3 Phase (Rotor & Stator) [ $1,553.00
[ v4100000MTR [ Motor 10HP, 230/460 Volt, 3 Phase (Rotor & Stator) [ $1,984.00
[ v4150000MTR [ Motor 15HP, 230/460 Volt, 3 Phase (Rotor & Stator) [ $2,359.00

Page 6 of 12 Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
V4250000MTR | Motor 25HP, 230/460 Volt, 3 Phase (Rotor & Stator) $4,932.00
V4500000MTR | Motor 50HP, 230/460 Volt, 3 Phase (Rotor & Stator) $7,800.00
V450001SC | Capacitor, 1HP self contained unit (01311SC) $32.00
V4500002C | Run Capacitor, 35mfd, 370 Volt $21.00
V4500003C | start Capacitor, 64mfd, 250 Volt $11.00
V4500004C | Start Capacitor, 800 mfd, 125Volt $33.00
V4500005C | Start Capacitor, 200mfd, 250 V $33.00
V4500006C [ Run Capacitor, 2.75HP, 25mfd, 370 V -- (USE PF070965) $0.00
V4500007C [ Run Capacitor, 3.5, 5 & 6HP, 45mfd, 450 V (USE PF522045720) $0.00
V4500008C | Start Capacitor, 3.5, 5 & 6HP, 300mfd, 350 V $26.00
V4500100R | Relay, 115V, TI4CR-1-758 $132.00
V4500101R | Relay, 230V, TI4CR-1-705 $135.00
V4500102R | Relay, 115V, HY-D2-165/40-11CU $99.00
V4500103R | Relay, MARS 169, #19169 $75.00
V4500300B | Circuit Breaker, 2hp, 115/1, 30 amp, 240 volt $118.00
V4500301B | Circuit Breaker, 2 & 2.75hp, 230/1, 15 amp, 240 volt $118.00
V4500302B | Circuit Breaker, 3.5hp, 230/1, 20 amp, 240 volt $118.00
V4500304B | Circuit Breaker, 6hp, 40 amp, 240 volt $125.00
V500000-1 | Strainer 2 to 5HP $108.00
V5000006 | Lift handle kit for Dewatering series 2HP to 5HP: handle, nuts, bolts, washers $76.00
V500003 | Bracket $17.00
V500004 | Anti-Sludge Stand for 1HP $51.00
V500100-1 | Suction Case 2.5HP - HV, 2.75HP & 5HP $548.00
V500200-6 | Impeller, Stainless Steel, 5.31" $579.00
V500210 | Lockwasher, Impeller, Stainless Steel .442" $7.00
V500300-2 | Diffuser $434.00
V500311 | Retainer, Seal $110.00
V500350 | Seal, Shaft, Outboard, Silicon/Silicon/Buna $322.00

Page 7 of 12 Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
V500400 Rotor, 3.5HP, 230 Volt, 1 Phase & 5 HP, 230/460-575 Volt, 3 Phase | $426.00
V500407 Key, Steel, .093" x.13" x .688" | $15.00
V500500 Frame, 3.5HP & 5HP | $575.00
V500555 Outer Shell, 3.5HP & 5HP | $244.00
V500600 Stator, 5HP, 230/460 Volt, 3 Phase | $1,136.00
V500700 Discharge Head, 2.75HP, 3.5HP, 5HP (USE V250700) | $0.00
V500710-2 Assembly, Cable and Gland | $733.00
V500711-1 Gland, Cable Aluminum | $94.00
V500750 Stator Dam, 2.5HP & 5HP, 230/460 Volt, 3 Phase | $6.00
V500750-1 Stator Dam | $6.00
V500750-2 Stator Dam, 2.75HP, 230 Volt, 1 Phase & 2HP, 115/230 Volt, 1 Phase | $6.00
V500812 Control Box, Raintight 5HP, 230 Volt, 1 Phase | $765.00
V500832 Control Box, Raintight 5HP & 5HP 2 Stage, 230 Volt, 3 Phase | $881.00
V500834 Control Box, Raintight 5HP & 5HP, 2 Stage, 460 Volt, 3 Phase | $881.00
V500850-134 Circuit Breaker, 10 amp, 480 volt | $127.00
V501305 WearPlate, Polyurethane | $172.00
V501306 WearPlate, Polyurethane (USE V501305) | $0.00
V511400 Rotor, 5Hp, 230V, 1Ph | $255.00
V511500 Frame, 5Hp, 230V, 3Ph | $586.00
V511555 Outer Shell, 5Hp, 230V, 1Ph | $254.00
V511600 Stator, 5Hp, 230V, 1Ph | $781.00
V550100 Casing, Suction | $980.00
V550200-2 Impeller, 5SHP, 2 Stage | $474.00
/550209 Spacer | $12.00
V550211 Lockwasher, Impeller .63" x 1.436" | $8.00
V550300-2 Diffuser, 5HP, 2 Stage | $605.00
V550303 Diffuser, Lower | $1,023.00
V550400 Rotor, 5HP, 230/460-575 Volt, 3 Phase, 2 Stage | $1,025.00

Page 8 of 12

Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
| Vv600200-6 | Impeller, 6Hp, 7.154" | $820.00
[ v600600 | stator, 6Hp, 230V [ $1,355.00
[ ve00812 | Control Box, Raintight 6HP, 230 Volt, 1 Phase | $877.00
[ v605012 | Lockwasher .328 x .750 Steel | $11.00
[ ve10400 | Rotor, 6 & 10HP, 230/460 Volt [ $1,338.00
[ v610500-1 | Frame 6 & 10HP [ $1,177.00
[ Vv610893-50 | cable, 50Ft, 230V, 10/4 SOW - 6, 10, 15HP | $1,025.00
[ v615016-001 | Frame 1HP | $261.00
[ v615016-002 | Frame 3/4HP | $261.00
[ Vv615016-003 | Frame, 1HP self contained unit (01311SC) | $252.00
[ Vv615017-001 | Outer Shell, 1HP (01311A) | $161.00
[ v615017-002 | Outer Shell, 3/4 & 1HP | $161.00
[ v615017-003 | Outer Shell, 1 HP self contained unit (01311SC) | $230.00
| v615058-1 | Strainer, Mushroom, V-Power Style | $203.00
[ v615170 | Suction Case 3/4HP & 1 HP | $182.00
[ Vv615170A | Suction Case 1 HP (01311A & 01311SC) | $182.00
[ v615171-2FK | Diffuser | $342.00
[ v615172 | Retainer, Seal | $51.00
[ ve15400 | Rotor, 15HP, 230/460-575 Volt [ $1,519.00
[ v615500-2 | Frame, 15HP [ $1,220.00
[ v615700 | Discharge Head [ $2,262.00
[ v615758 | Plug Assembly | $168.00
[ v625-00163 | Connector 3/4-1HP, 230 Volt, 1 Phase & 460 Volt, 3 Phase | $1.00
[ ve458 [ O-ring | $37.00
[ v810105 | Suction Case, 10HP -HH [ $1,103.00
[ v810200-2 | Impeller, 10HP - HV, Stainless 7.154" | $910.00
[ v810203-3 | Impeller, 10HP - HH, Stainless 7.795" [ $1,077.00
[ v810555 | Shell, Outer 10HP | $580.00

Page 9 of 12 Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
| V810630 | Stator, 10HP, 230/460 Volt | $1,550.00
[ v810832 | Control Box, Raintight 10HP, 230 Volt, 3 Phase | $754.00
[ v810834 | Control Box, Raintight 10HP, 460 Volt, 3 Phase | $708.00
[ v810850-032 | Circuit Breaker, 10Hp, 230/3 & 25Hp, 460/3, 40 amp, 480 volt | $192.00
[ v810893-50 | Cable 50Ft, 230 Volt 6/4 SOW | $688.00
[ v815000-1 | Strainer Stainless Steel | $336.00
[ v815010 | Bolt, Strainer, Qty of 4 | $182.00
[ v815100 | Suction Case, 10 & 15HP -HV [ $1,100.00
[ v815105 | Suction Case, 15HP -HH [ $1,103.00
[ v815200-2 | Impeller, 15HP -HV, Stainless 7.19" | $885.00
[ v815203-2 | Impeller, 15HP -HH, Stainless 7.80" [ $1,090.00
[ v815210-1 | Shim .016 Thick, One set (Qty. 10 per set) | $6.00
[ v815210-2 | Shim .032 Thick, One set (Qty. 10 per set) | $6.00
[ vs15211 | Lockwasher, Impeller, Stainless Steel, .51" | $9.00
[ v815300 | Diffuser | $943.00
[ v815310 | Retainer, Seal | $112.00
[ v815311 | Retainer, Bearing | $124.00
[ v815350 | Seal, Shaft, Outboard, Silicon/Silicon/Viton | $430.00
[ v815410 | Key, Steel 1/8" x 1/8" x .88" | $17.00
[ v815555 | Shell, Quter 15HP | $620.00
[ v815630 | Stator, 15HP, 230/460 Volt [ $1,912.00
[ v815720 | Adapter, Discharge | $344.00
[ v815832 | Control Box, Raintight 15HP, 230 Volt, 3 Phase | $916.00
[ v815834 | Control Box, Raintight 15HP, 460 Volt, 3 Phase | $852.00
[ v815850-034 | Circuit Breaker, 15Hp, 460/3, 30 amp, 480 volt | $192.00
[ v815850-136 | Circuit Breaker, 5Hp, 230/3, 20 amp, 480 volt | $192.00
[ v825000-1 | Strainer, Stainless Steel | $448.00
[ v825010 | Bolt, Strainer 1/2-13 | $73.00

Page 10 of 12 Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
[ Vv825200-2 | Impeller, 25HP -HV, Stainless 8.016" | $1,496.00
[ v825203-1 | Impeller, 25HP -HH, Stainless [ $1,467.00
[ v825408 | Rotor, 25HP, 230/460 Volt [ $2,057.00
[ v825630 | Stator, 25HP, 230/460 Volt [ $4111.00
[ v825832 | Control Box, Raintight 25HP, 230 Volt, 3 Phase | $907.00
[ v825834 | Control Box, Raintight 25HP, 460 Volt 3 Phase | $879.00
[ v825850-032 | Circuit Breaker, 25Hp, 230/3, 75 amp, 480 volt | $192.00
[ v825907-50 | cable 50Ft, 4/4 SOW [ $2,021.00
[ v840100 | Suction Case 25HP -HV [ $1,259.00
[ v840100-4 | Suction Case 25 & 50HP -HH [ $1,259.00
[ v840100-8 | Suction Case 50HP -HV [ $1,259.00
[ v840210-2 | Shim 25HP .010, One Set (Qty. 10 per set) | $6.00
[ v840210-3 | Shim 25HP .020, One Set (Qty. 10 per set) | $6.00
[ vs40211 | Lockwasher, Impeller, Stainless 25HP .64 x 1.437" | $54.00
[ v840300 | Diffuse [ $1,872.00
[ v840310 | Retainer, Seal | $301.00
[ v840313 | Retainer, Bushing | $227.00
[ v840350 | Seal, Shaft, Outboard, Silicon/Silicon/Viton 25HP | $713.00
[ v840410 | Key, Impeller 25HP .15 x .15 x .80" | $23.00
[ v840500 | Frame 25HP [ $1,991.00
[ v840555 | Shell, Outer 50HP | $1,475.00
[ v840555-1 | Shell, Outer 25HP [ $1,313.00
[ v840700 | Discharge Head [ $1,912.00
[ v840710-10 | Assembly, Cable & Gland [ $2,169.00
[ v840710-44 | Assembly, Cable & Gland 230 Volt | $1,005.00
[ v840710-5 | Assembly, Cable & Gland 460 Volt | $637.00
[ vs40711 | Gland, Cable Aluminum | $160.00
[ vs40715 | Gland, Cable Aluminum | $262.00

Page 11 of 12 Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com



Dewatering Parts Pricing

Part Number Description List Price
| V840732 | Adapter, Discharge | $902.00
[ v840748 | Nut, Cable Grip, Zinc Plated | $231.00
[ v840749-2 | Bushing, Neoprene | $35.00
[ v840750 | Stator Dam, 25HP, 230/460 Volt | $39.00
[ v840750-1 | Stator Dam, 50HP, 460 Volt | $35.00
[ v840751-3 | Bushing, 230 Volt, Neoprene | $25.00
| v840751-6 | Bushing, 460/575 Volt, Neoprene | $25.00
[ v840752 | Stator Dam 230/460 Volt | $18.00
[ v840755 | Nut, Cable Grip, Zinc Plated | $80.00
[ v840758 | Plug, Assembly | $82.00
[ v840759-1 | Grip, Cable Washer 230 Volt | $15.00
[ v840759-2 | Grip, Cable Washer 460/575 Volt | $16.00
[ v840760-4 | Clamp, Cable Aluminum | $56.00
[ v840850-036 | Circuit Breaker, 15Hp, 230/3, 50 amp, 480 volt | $192.00
[ v850200-2 | Impeller, 50HP -HV, Stainless 8.016" [ $2,156.00
[ v850203-2 | Impeller, 50HP -HH, Stainless 8.457" [ $2,239.00
[ v850208-1 | Bushing, Taper Lock 50HP | $263.00
[ v850209 | Locknut, Impeller 50HP 1/2-12 | $208.00
| V850350 | Seal, Shaft, Outboard, Silicon/Silicon/Viton 50HP (USE V 840350) | $0.00
[ v850400 | Rotor 50HP, 460 Volt | $3,465.00
[ V850410 | Key, Impeller 50HP .25 x .27 x 1.00" | $83.00
[ v850500 | Frame 50HP [ $2,800.00
[ v850555 | Shell, Outer 50HP [ $1,437.00
[ v850634 | Stator 50HP 460 Volt | $6,467.00
[ v850834 | Control Box, Raintight 50HP 460 Volt, 3 Phase | $907.00
[ v850850-034 | Circuit Breaker, 50Hp, 460/3, 60 amp, 480 volt | $192.00

Page 12 of 12 Date: February 15, 2013

V-Power Equipment, Inc « 888-830-8025 « www.vpowerequip.com





